Precalculus Chapter 5 Review
Show ALL work.

1. Given [image: image2.png]i =
sin x = -
E



 and [image: image4.png]cosx = -2



, find [image: image6.png]cotx.




2. Given [image: image8.png]


 find [image: image10.png]sin x.




3. Given [image: image12.png]cscx



 and [image: image14.png]tanx > 0,



 find [image: image16.png]cos x.




4. Simplify: [image: image18.png]an x+cot




5. Simplify: [image: image20.png]



6. Simplify: [image: image22.png]



7. Factor and simplify: [image: image24.png]cot®x +2cot*x + 1




8. Perform the addition and simplify: [image: image26.png]



9. Simplify: 
[image: image27.wmf]x

x

csc

csc

1

-

 
10. Simplify: [image: image30.png]rp—




11. Verify the identity: [image: image32.png]—tan®x = tanx




12. Verify the identity: [image: image34.png]tan®xcos®x + cot®xsin®x = 1




13. Verify the identity: [image: image36.png]



14. Verify the identity: [image: image38.png]



15. Verify the identity: [image: image40.png]secxese®x — ese?x = ——
Trcosx




16. Verify the identity: [image: image42.png]



17. Verify the identity algebraically [image: image44.png]



18. Find all the solutions:[image: image46.png]2cosx—\3=




19. Find all the solutions: [image: image48.png]cscx+2=0




20. Find all the solutions in the interval [image: image50.png][0.27): cot*x —tan’x =0




21. Find all the solutions in the interval [image: image52.png][0,27)



: [image: image54.png]sec’x = secx + 2




22. Find all the solutions in the interval [image: image56.png][0,27)



: [image: image58.png]3tan*2x —1=10




23. Find all the solutions: [image: image60.png]



24. Find all solutions in the interval [image: image62.png][0,27): tanBcsch = tan 6




25. Evaluate: [image: image64.png]


  (use the fact that [image: image66.png]255°=210°+ 45°%)




26. Evaluate: [image: image68.png]


  (use the fact that [image: image70.png]B _ i _ ¢

FERRa——





27. Simplify: [image: image72.png]‘tan 377 —tan 13
1+(zan37) (can13")




28. Simplify: [image: image74.png]sin 8x cos 2x + cos 8x sin 2x




29. Given [image: image76.png]


 and [image: image78.png]


 find [image: image80.png]cos(u — v).




30. Simplify: [image: image82.png]



31. Simplify: [image: image84.png]tan (£ +6)




32. Simplify: [image: image86.png]cos(2x — y) cosy — sin(2x — y) siny




33. Simplify: [image: image88.png]sin (T —x) +cos(x + %





34. Find all the solutions in the interval [image: image90.png][0,2m):cos2x + sinx = 0




35. Find all solutions in the interval [image: image92.png][0,27):



 [image: image94.png]cos®x —cos2x =0




36. Given [image: image96.png]cos



 and [image: image98.png]sinf < 0,



 find [image: image100.png]tan 26.
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[image: image102.png]—V2te



Answers:[image: image103.png]



24.   no solution 


25.   � EMBED Equation.3  ���� QUOTE � ��


26.   � QUOTE � ���


27.   � QUOTE � ���


28.   � QUOTE � ���


29.   � QUOTE � ���


30.    � QUOTE � ���


31.   � QUOTE � ���


32.   � QUOTE � ���


33.   � QUOTE � ���


34.   � QUOTE � ���
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36.   � EMBED Equation.3  ���
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[image: image107.png]sin 10x



[image: image108.png]sin 10x
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[image: image133.png]cos’x



[image: image134.png]- cotx
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[image: image138.png]sec x



[image: image139.png]sec x



[image: image140.png]sinx —1



[image: image141.png]sinx —1



[image: image142.png]secx —tanx



[image: image143.png]secx —tanx
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